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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes \

each sentence. Then mark the correct c.&ﬂﬁ: Q1 your answer .'L"!E.!.

— iy 2 oy ] R S e o om e

Computers are used to store and later to -——-——- information efficiently.

1) absorb 2) fabricate 3) proceed 4) retrieve

Birds -———--- less accurately when the earth’s magnetic field is disturbed.

1) probe 2) accompany 3) navigate 4) ponder

The story of the scientist’s life is —--—- in this new biography.

1) recounted 2) reconciled 3) revoked 4) revolved

It has been ==-=—-— that dinosaurs became extinct because the Earth’s climate changed.

L} fostered 2) speculated 3) founded 4) detested

War and illiteracy are two of the greatest ————— to human progress.

1) phenomena 2) resolutions 3) impediments 4) divergences

It is hard to believe that hunger is a problem despite the -——-----= of the country.

1) advocacy 2) approximation 3) Inspiration 4} prosperity

None of the journalist’s children showed the slightest ——-— to follow their father into
journalism.

1) inclination 2) composition 3) impression 4) extension

This society enjoys cultural -————- despite the fact that it consists of different ethnic
backgrounds.

1) erection 2) homogeneity 3) demonstration 4) conviction

When people saw pictures of killed soldiers on TV, there was a -------— reaction against
the war.

1) prumitive 2) comprehensive 3) preoccupied 4) spontaneous

The philesopher’s explanation of the theory was rather ----—-- , Le. difficult to
understand.

1) opaque 2} distinctive 3) inevitable 4) immense

11-

12-

-

13-

14-
15-

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or
(4) best fits each space. Then mark the correct choice on your answer sheet.
e . e — —

A scholarship is a type of financial award given to college students in recognition of past or
potential academic achievement. The terms “scholarship™ and “fellowship” are sometimes
(1]} —=emmeeee . Generally, however, a scholarship is awarded to undergraduates (12) ---—------ a
fellowship is given for graduate study. Currently, most scholarship programs are relatec to
financial need, (13) ~=-e----= not necessarily a prerequisite. The College Scholarship Service, an
organization sponsored by the College Entrance Examination Board, has devised a financial aid
form (14) <===----- used by over 1,600 colleges and universities in a cooperative effort to achieve
some uniformity.in_assessing need. A detailed report on (15) --------- annual income,
investments, debis, and dependents is submitted to the College Scholarship Service which
duplicates copies and sends them to the colleges as requested, along with a confidential analysis
of need and 4 recommended award.

| Vinterchangeable use 2) interchangeably use

3} used interchangeably 4} used interchangeable

1) asif 2) as long as 3) while 4} however

| } although need is 2) although need does

3) so that need does 4) 50 that need is

)it is 2) whataf has becn )it has heen 4 o that is

1} factors 2)such factors as 3) such as factors 4) factors that are
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PART E:ading Eﬂeenn

| Directions: Read the following passages and answer the guestions by choosing the
|best choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

In microeconomics, production is the .conversion of inputs into outputs. It is an
economic process that uses resources to create a commodity that is suitable for
exchange. This can include manufacturing, warehousing, shipping, and packaging.
Some economists define production broadly as all economic activity other than
consumption. They see every commercial activity other than the final purchase as
some form of production. Production is a process, and as such it occurs through time
and space. Because it is a flow concept, production is measured as a "rate of output
per period of time". There are three aspects to production processes; including the
quantity of the commodity produced, the form of the goods created and the temporal
and spatial distribution of the commodity produced. Opportunity cost expresses the
idea that for every choice, the true economic cost is the next best opportunity. Choices
must be made between desirable yet mutually exclusive actions. It has been described
as expressing "the basic relationship between scarcity and choice”. The notion of
opportunity cost plays a crucial part in ensuring that scarce resources are used
efficiently. Thus, opportunity costs are not restricted to monetary or financial costs:
the real cost of output forgone, lost time, pleasure or any other benefit that provides
utility should also be considered.

An economic process uses resources to create a — that is suitable for exchange.

1) a material 2) a product 3) an import 4) an export
According to some economists, production is every commercial activity EXCEPT -—---- --
1) selling 2) buying 3) producing 4) shopping

Which item is NOT mentioned in the passage as an aspect to production processes?
1) the amount of the product created

2) the place of the distribution of the commeodity produced

3) the temporary distribution of the goods created

4) the form of the merchandize produced

What does “it” in line 12 refer to?

1) true economic cost Z) opportunity cost
3) exclusive action 4) desirable action
The author finally concludes that epportunity costs are -———- -

1) not confined to economic costs

2) the real costs oflest time and any other pleasure

3) not limited to the benefit that provides utility

4) the real costs.of output forgone

MMGQL&H’)@M}‘WL&)KQ"W‘,)L"@PT
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PASSAGE 2:

The inputs or resources used in the production process are called factors of
production. Possible inputs are rypically grouped into six categories, These factors are
raw materials, machinery, labor services, capital goods, land, and enterprise. In the
short-run, as opposed to the long-run, at least one of these factors of production is
fixed. Examples include major pieces of equipment, suitable factory space, and key
personnel. A variable factor of production is one whose usage rate can be changed
easily. Examples include electrical power consumption, transportation services, and
most raw material inputs. In the "long-run", all of these factors of production can be
adjusted by management. In the short run, a firm's "scale of operations” determines
the maximum number of outputs that can be produced, but in the long run, there are
no scale limitations. Long-run and short-run changes play an important part in
economic models.

Economie efficiency describes how well a system generates the maximum desired
output with a given set of inputs and available technology. Efficiency is_ improved if
more output is generated without changing inputs, or in other words, the amount of
“friction" or "waste" is reduced. Economists look for Pareto efficiency, which is
reached when a change cannot make someone better off without making someone else
worse off. Economic efficiency is used to refer to a number of related concepts. A
system can be called economically efficient iff Mo one can be made better off without
making someone else worse off, more output cannot be obtained without increasing
the amount of inputs, and production ensures the lowest possible per unit cost. These
definitions of efficiency are not exactly eguivalent. However, they are all
encompassed by the idea that nothing more can be achieved given the resources
available.

Which item is NOT mentioned by the author among the resources employed in the
production process?

1} business 2) consumer goods

3) physical work 4) equipments

Which item is regarded by the author among the fixed factors of production?
1} spatial condition of the factory 2) conveying goods

3) use of electricity 4) raw material resources

If the author is right, then -——---——in the long-term.

1) management can adapt all production elements

2} a corporation’s scale of operations specifies the utmost production only
3) changes have a significant role in economic models only

4) there are scale restrictions to the amount of production

If the guantity of friction is decreased, then -——-—-— according to the passage.
1) the system generates the least desired output 2) efficiency gets better
3) the amount of waste is increased 4) less output is produced

What is the common idea abstracted by the author from the definitions of efficiency?
1} Production guarantees the lowest possible per unit cost.

2}y A change cannot make someone better off without making someone else worse off.

3) If the amount of inputs does not increase, more output cannot be achieved.

4) If the inputs are present, nothing more can be attained.
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PASSAGE 3

International trade smdies determinants of goods-and-services flows.  across
mnternational boundaries. It also concemns the size and distribution of gains from trade.
Policy applications include estimating the effects of changing tariff rates and trade
quotas. International finance is a macroeconomic field which examines the flow of
capital across international borders, and the effects of these movements on exchange
rates. Increased trade in goods, services and capital between countries is a major
effect of contemporary globalization.

The distinct field of development economics examines economic aspeécts of the
development process in relatively low-income countries focusing on structural
change, poverty, and economic growth. Approaches in development economics
frequently incorporate social and political factors.

Economic systems is the branch of economics that studies the methods and
institutions by which societies determine the ownership, direction; and allocation of
economic resources. An economic system of a society is the unit of analysis. Among
contemporary systems at different ends of the organizational spectrum are socialist
systems and capitalist systems, in which most production eccurs in respectively state-
run and private enterprises. In between are mixed economies. A common element 13
the interaction of economic and political influences, broadly described as political
economy. Comparative economic systems studies the relative performance and
behavior of different economies or systems.

What does the passage mainly discuss?

1) Allocation of Economic Resources 2) International Economics

3) Contemporary Globalization 4) Economic Systems

Which statement is true about international money management according to the author?
1) It studies the flow of capital across international borders.

2) It studies the determinants of goods-and-services flows internationally.

3) It estimates the effects of changing tariff rates and trade quotas.

4} It reviews the impacts of the flow of capital on exchange rates within 2 country.
Development economics studies economic features of the development process in low-

income countries —-------=- - structural change, poverty, and economic growth.

I) defending 2) fastening 3) emphasizing 4) securing

The procedures and institutions by which societies decide on the --——- -~ of economie
resources are studied by economic systems.

1) nights andyguidelines 2) properties and production

3) privileges and consumption 4) possession and distribution

The author finally states in the last paragraph that ——------- .

1) Most production and eonsumption is present in mixed economies
2} Most production occurs in state-run and private enterprises

3} There 15 & spectrum of economic systems in the world today

4) There are only two'economic systems in the current world
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